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= Year 12                   = Calculus II                   = Worksheet 8 
 

1. Verify that 
2

1
2

2
++= xey

x
 is a solution to 

022 =+− xy
dx

dy
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2. Find the value(s) of constant k such that kxkxy cossin −=  is 

a solution to 0
2

2

=+ y
dx

yd
. 

3. Find the constants a and b such that xxey = is a solution to 
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dx
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a
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yd
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4. Verify that ( )1−+=
axax

e
a

b
Aey  satisfies bay

dx

dy
+= , 

where a and b are positive constants. 

 

 

5. Verify that ( )bxey ax sin=  satisfies the equation 

( ) 02 22
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a

dx

yd
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6. Verify that ( ) ( )xxy ee logcoslogsin +=  satisfies the equation 
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x
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x . 

 

 

 

 
 

7. Solve 
291

3

xdx

dy

+
= , given 0

3

1
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


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8. Solve 0log =− t
dt

dx
t e , given 1=x  when 2log =te . 

9. Solve tt
dt

xd
cos32

2

2

+= , given 2=x and 3=
dt

dx
 when 0=t . 

 

 

 

 

 

 

 

10. Use technology to evaluate y when 1=x , given 

( )2
sin x

dx

dy
=  where 2=y when 0=x . 

11. Use technology to evaluate V  when 2=t , given 

( ) 11log ++= t
dt

dV
e  where 5=V when 1=t . 

 

 

 

 

 

 

Numerical, algebraic and worded answers. 

 

2
. 
 ±

1
 

3
. 
 a

 =
 −

2
, 
b

 =
 1

 

7
. 
 t

an
−

1
(3

x
) 

+
 π

/4
 

8
. 
 (

lo
g

et
)2

/2
 

9
. 
 t

4
/1

2
 +

 3
t 

−
 3

co
st

 +
 5

 

1
0
. 

≈
2

.3
1

 

1
1
. 

≈
6

.9
1

 

 


